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Set0l Answers for No.10441

areal ={2,6,7}
area? = { }
area3 =1{0,8,9,11}
area4 ={1,3,4,5,10}
areal = {1,7}
area2 =1{3,5,9}

n(4d n B)=0  n(4 U B)=7
,.2=| n(4-B)=3 n(U-(4 U B))=5
n(B-A)=4 Math@MUT

Ansl =| .1 =

n(4 N B)=3  n(4 U B)=8

Ans2=| .1= ,.2=| n(4d-B)=2 n(U-(4 v B))=3
;::;j - {{02” 46”180}} n(B-A4)=3 Math@MUT
[ [ areal={5,8,9,15} ] ]
area? = {1} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 ={2,10,17} n(union(4, B, C)) =13 n(B-4)=4
ns3=| 1= aread = {3} g n(d N B)=2 n(C N ((4uvB))=3
' area5= {7} . n(B N C)=2 n(Cu (4 nB))=6
areab = {6} n(4 v C)=10 n(intersect(A4, B, C)') =16
area7 = {4,12} n(Bu C)=9 Math@MUT
L Larea8 = {11,13,14,16}] ]
A v B=1{4,5,7,8,10,13,15,16} i 1 =(A = {area3, aread ) )
, 40 B=116; 2=(B-A={area3})
A v B=1{4,56,7,9,10,11, 12,13, 14, 16, 17} 3=((4 U B) = {aread})
BnAd= 18,15} 4=(4 v B={areal, area2, area3, area4, area5, area6 })
Ans4 = A4-B=1{4,5,7,10,13} , Ans5 = S5=(C n (4 v B)={area4, area’, area6 })
B-A= {6,9,11,12,14,17} O6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)=1{6,9,11,12, 14,17} 7=((C-4) n (C-B)={area7})
A N B= {6,9,11,12,14,17} 8= (B/ U C= {areal, area2, area3, area4, area7, area8 })
L (4-B)={6,8,9,11,12,14,15,16,17} | L 9=((C-A4) - B={areal, aread, area8 } ) J

DG RF-Te (SR NIV (N B ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.0:0.9:0.9:0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0.:9:0.9:0.:9:0:9:0:9:0:0:0.:9:0.9:0.9:0.9.9.9.9.0.9.0.9.0.¢




areal = {3,4,7}
area? = {6,9}

AnsE=1 1= a3 = (0,5, 10, 113 [
aread = {1,2,8}
areal = {9}
area? ={2,5,6,10,11}
Ans2 = 1= area3=1{7,8} ’
area4={1,3,4}
I [ areal = {15} ]
area? = {6}
area3 ={1,12,16}
aread = { }
Ans3 =| .1 = areas = {7} ,.2=
areab = {3,9}
area7 = {13}
Larea8 = {0,2,4,5,8,10, 11, 14}

AU B=1{23,4,5710,11,12}
AN B={}

A U B'=1{2,56,78,911,12,13, 14,15}
B A={3410}
A-B=1{2,57,11,12}

B —A4=1{6,8,9,13,14,15}

(4 U B)=1{6,8,9,13,14,15}

A n B'={6,8,9,13 14,15}
(4-B)=1{3,4,6,8,9,10,13, 14,15}

Ans5 =

>
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Set0l Answers for No.10442

n(4d N B)=2 n(4 U B)=9
2= n(A-B)=3 n(U-(4 u B))=3
n(B-4)=4 Math@MUT
n(4d N B)=5 n(4 v B)=8
2= n(4-B)=1 n(U-(4 v B))=3
n(B-4)=2 Math@MUT
n(intersect(4, B, C)) =1 nd-B)=1
n(union(4, B, C))=9 nB-4)=5
n(4d N B)=2 n(C n (4 v B))=3
n(B N C)=3 n(Cu (4 nB))=5
n(4 v C)=6 n(intersect(4, B, C)/): 16
n(B U C)=8 Math@MUT

A=(A4 N B={area2})
2=(B —A'={areal})
3=((4=-B)n (B-4)={1})
4= (B ={areal, area4, area7, area8 })

S=(B U (4 n C)={area2, area3, area4, area$, areal } )
6=((4 v B) n (B v C)={areal, area3, area4, areas, area6 })
7=((B—-4) n (B-C)={area3})
8= (A/— C= {areab, area?7})

.9:(C' N (B—A)'z {areal, area2, area8})

(V010123 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9.9:9.9.9:9.9.9.9:9.9.9:0.9.0.9:0:9:0:9:0.9:0.:9:0:9:0:9:0:9:0.9.0.9.9.9:9.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0:9.0.9:0.9:0.9:0.9:0:9:0:9:0.9:0:9:9.9:0.9.9.0.0.9.9.9.9.9.9.0.9.0.9:0:9.0.:9.0.9:0:9:0:9:0.9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9:9.0.9.0.9.0¢
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Set0l Answers for No.10469

areal = {10, 11,12}

area?={ } n(4d N B)=0 n(4 U B)=38
Ansl =| .1 = area3*{2_4568}"2: n(4d-B)=3 n(U-(4 v B))=4
aread = {1,3,7,91 n(B-4)=5 Math@MUT
1={2,12
”r;feazf {’0}} n(d ~B)=1  n(4 U B)=6
Ans2 =| .1 = maj_{; 8,101 ,.2=| n(A-B)=2 n(U-(4 U B))=8
aread=1{1,3,4,5,7,9, 11, 13} n(B-4)=3 Math@MUT
I areal = {16} ] ]

area2 = {7} n(intersect(4, B, C)) =0 n(4-B)=2
area3 =1{3,5,6,13} n(union(4, B, C))=13 n(B-4)=5

nsi=| 12 aread = {9} I n(4d N B)=1 n(C N (4uv B))=2

Sl R area5=1{ } s = n(B N C)=1 n(C U (4 N B))=8

area6 = {11} n(4 v C)=9 n(intersect(4, B, C)) =17
area7 ={2,4,12,15,18} n(Bu C)=12 Math@MUT
L L area8={8,10,14,17} | ]
[ 4V B={3,6,8,9,10,14} 1 [ .1 =(A v B={areal, area2, area3})
AN B={910} 2=(A-B'={area2})
AV B={2,4,57,8,9,10,11,12,13} 3=(4 N B ={aread})
Bnd= {3,6,14} 4=(B v C={areal, area3, area4, areas, area6, area7 })
Ans4 = A-B={8} , Ans5 = S=(B v (4 n C)={area2, area3, aread, area’, area6 })

B'—A=1{2,4,57,11,12,13}
(4 U B)=1{2,4,57,11,12,13}
A N B={24571112,13}
L(A-B) =1{2,3,4,5,6,7,9,10, 11,12, 13, 14} |

X [Page

6=((4 U B) n (B v C)={area2, area3, area4, areas, area6 })
7=((C-4) u (C-B)={area4, areab, area? })
8= (B/ U C= {areal, area2, area3, area4, area7, area8 })
9=(Cn (B—A)rz {aread, area5, area7})

[VJOJ0CH ID:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0:9.9.9:9.9.0.9:9.9.9.0.9.0.9:0:9:0.:9:0.9:0.9:0:9:0:9:0:9:0.9.0.9.9.9:9.9.9.9.9.9.9.9:9.0.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.9.9.0.9.0.9:0:9:0.9.0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.0.9.9:9.0:9.0.9.0:¢
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Set0l Answers for No.10479

areal ={0,4,5,7}
area? = { }
area3=1{1,3,6}
area4 ={2,8,9,10}
areal = {17, 18}
areal = {8}
area3 ={4,5,9,11}

n(4d n B)=0  n(4 U B)=7
,2=| n(A-B)=4 n(U-(4 U B))=4
n(B-A)=3 Math@MUT

Ansl =| .1 =

n(4 N B)=1 n(4 U B)=17

Ans2=| .1= ,.2=| n(4-B)=2 n(U-(4 U B))=38

aread = {6,7,10, 12, 13, 14, 15, 16} n(B-4)=4 Math@MUT
I areal = {3,7,13,14} ] i
area? = {8} n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {4,16} n(union(4, B, C)) =10 n(B-4)=3
Ans3=| 1= aread = { } e n(4d N B)=1 n(C N (4 v B))=1
areaS={ } ’ nBnNC)=1 n(Cu (4 n B))=4
areab = {15} n(4 v C)=8 n(intersect(4, B, C)) =16
area7 = {2,6} n(BuU C)=6 Math@MUT
L Larea8 = {1,5,9,10, 11,12} ]
(4 U B=1{1,2,4,6,7,8,9,10,11,12} | [ 1=(4 N B={areal}) ]
4 N B={2} 2=(B—-A={areal3})
AU B={23,5678,91011,13} 3=((4 n B) = {areal, area3, aread})
BnAd= 11,4,12} 4= (B/: {areal, area4, area7, area8})
Ansd = A-B=1{6,7,8,9,10, 11} , Ans5 = 3=(C v (A4 N B)={area2, area4, area$, areab, area7 } )
B-A= {3,5,13} 6=((4 v C) n (B vy C)={area2, area4, areas, areab, area7 })
(4 U B)=1{3,513} .7=((B-4) v (B-C)={area2, area3, areal })
A~ B'={3,513} .8=(A - B = {area3, area6})
L (A—B)':{l,z, 3,4,5,12,13} | L .9=((B—A)'—C':{area4, areal, area7}) |

DG RF-Te (SR NI V(LY ID'0:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.9.9.9.9.9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0:9:0.9.0.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.10506

X [Page

Ans4 =

Z:ZZéi S;lji n(d N B)=2  n(4du B)=7
Ansl =| .1 = area3:{6:9} ,.2=| n(4-B)=3 n(U-(4 U B))=5
aread = {4,10,11, 13, 15} n(B-4)=2 Math@MUT 1|
ari;ia—z{:l,{z, ?’21}1} n(d N B)=2 n(4 U B)=17
Ans2=|.1= area3={10} ,.2=| n(4-B)=4 n(U-(4 U B))=7
aread=1{2,4,5,6,7,13, 14} n(B-A)=1 Math@MUT
I areal = {2,3, 8} ] i
area? = {4} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = { } n(union(4, B, C))=28 n(B-4)=1
Ans3<| 12 aread = { } P n(4d N B)=2 n(C N (4 v B))=2
' area5= {1} e n(B N C)=2 n(C U (4N B))=5
areab = {12} n(4 v C)=8 n(intersect(4, B, C)) =13
area7 = {0,9} n(Bu C)=5 Math@MUT
L Larea8 = {5,6,7,10,11, 13} ]
A v B={3,4,6,7,8,9,10,11, 12,13} 1 =(B = {areal, aread})
AN B=1{47,10} 2=(B'~A={aread})
A v B= {1,2,’4,5,6,7, 8,9,10,12} 3=((A-B)n (B-A)={})
B nA={31113} .4:(C’: {areal, area2, area3, area8 })
4-B={6,8,9,12} , Ans5 = S=(A4 n (B v C)={area2, aread, area5 })

B-A4=1{1,2,5}
(4 U B)=1{1,2,5}
A4 N B={1,25}

L (4-B)=1{1,2,3,4,5,7,10,11,13} |

6=((A4 N B) U (4 n C)={area2, area, areas })
7=((A-B) U (A-C)={areal, area2, area4})
8= (A/ U C= {areal, area2, area3, area6, area?7, area8 })
L .9:(A' N (C—B)': {area3, areab, area8 })

[VJO10)SH D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0.9.9.9:9.9.0.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0.9:0:9:9.9:9.9.9.9.0.9.9.9:9.0.9.0.9.0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.9.9.0.9.0.9.0:9.0.:9.0.:9:0:9:0:9:0.9:0:9:0.9:0:9:0.9:0.9.9.9.0.:9.9.9:9.0.9.0:9.0¢



R ERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0.¢ ' . Y AL T T NN NV Jo L0 15) 0:¢
Set0l Answers for No.10514

areal = {6, 8,13}

area2 = {10} n(4 " B)=1  n(4 U B)=8

Ansl =| .1 = area3 = {5.9.12, 14} ,.2=| n(4-B)=3 n(U-(4 v B))=5
aread = {4,7,11, 15,16} n(B-4)=4 Math@MUT
“22512:{?’2‘;} n(dn B)=1  n(4duU B)=8
Ans2=| .1= 2= n(4-B)=2 n(U-(4 U B))=7
area3 = {6, 8,10, 13, 14}
aread={1,3,5,7,9, 11,12} n(B-4)=>5 Math@MUT
[ [areal =1{5,7,10,11}] ]
area = { } n(intersect(4, B, C))=0 n(4d-B)=4
area3 = {14,15} n(union(4, B, C)) =11 n(B-4)=3
ans3<| 12 aread = { } P n(4 N B)=0 n(C N (4uvB))=1
' area5=1{ } . n(B N C)=1 n(Cu (4 nB))=5
areab = {6} n(4 v C)=9 n(intersect(4, B, C)) = 15
area7 = {2,8,12,16} nBuC)=7 Math@MUT
L L area8 =1{3,4,9,13} | i
A v B={3,506,7,8,9,12,13,14} 1 =(A4'={area3, aread})
AN B={9} 2=(A'-B'={area3})
AU B'={4,6,9,10,11,12,15, 16} 3=((4 A B) = {areal, area3, aread )
B nA4={357381314} 4=(B n C={areas, areab})
Ans4 = A-B=1{6,12} , AnsS = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —A4=1{4,10,11,15,16} 6=((4 U B) n (B v C)={area2, area3, area4, area5, area6})
(4 U B)=1{4,10,11, 15,16} 7=((B-4) v (B-C)={area2, area3, areab })
A~ B'={4,10,11,15,16} 8=(B -4 = {areal, aread})
l(A-B)=1{3,4,5,7,8,9,10,11, 13, 14, 15, 16 } | L 9=(B N (C—-A) = {area2, area3, area5}) J

DG R=F-Te (SR NI VLY ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.9:0:9:0.9.0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9.0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.10520
areal ={9,12,13,16}

area2 ={ } n(4 N B)=0 n(4 U B)=9

Ansl =| .1 = area3:{4,5,8,10,15}"2: n(d-B)=4 n(U-(4 v B))=4
aread = {6,7, 11, 14} n(B-4)=3 Math@MUT
Z:ZZ;; g ﬁi n(d n B)=2  n(duU B)=7
Ans2=| .1= area3:{2,’5,7} ,.2=| n(4d-B)=2 n(U-(4 v B))=4
aread = {4.8.9.10} n(B-4)=3 Math@MUT
[ [ areal=10,3,9,14} ] i ]
area2 =1{ } n(intersect(4, B, C)) =0 n(4-B)=4
area3 ={5,6,8,11,12} n(union(4, B, C)) =12 n(B-4)=17
ns3—| 1 aread = { } e n(4d N B)=0 n(C N ((4uvB))=2
area5 ={ } i nBnNnC)=2 n(Cu (4 nB))=3
area6 = {10, 13} nduvu C)=7 n(intersect(A4, B, C)’): 17
area7 = {15} L n(B v C)=8 Math@MUT
L Larea8=1{1,2,4,7,16} ] i
A v B={0,1,2,3,4,5,6,7,8,10, 11} i 1 =(B = {areal, aread}) i
4.0 B=1{0,6} 2=(A-B ={area2})
AUB:'{0,2,4,6,7,9,11} .3=(A'mB':{area4})
BnA4={13,53810} 4=(A n C={aread, areas})
Ans4 = A-B={2,4,7,11} , Ans5 = S=(B v (4 n C)={area, area3, area4, area$, areat } )
B—A4=1{9} 6=((4 U B) n (B v C)={area2, area3, aread, area’, area6} )
(4 U B)=1{9} T7=((B-4) n (B-C)={area3})
A'mB':{9} .8:(Bl—A/:{area1,area4})
L (4-B)={0,1,3,5,6,8,9,10} | L 9=(B N (C—4) = {areal, aread, area8}) ]

DG RF=Te (SR NIV VA ID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9:0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0.9:0.9:0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.9.0.¢
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Set0l Answers for No.10638

areal = {3,6,9}

area2= {13, 14} n(4d mnB)=2  n(4 U B)=6

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=7
area3 = {7} B
aread = {2,4,5,8,10, 11, 12} n(B-4)=1 Math@MUT
“reZZe:;f’{S;}w} n(dn B)=1  n(duU B)=6
Ans2 =| .1 = - ,.2=| n(A-B)=3 n(U-(4 U B))=5

area3 ={0,9}

aread = 1{1,3,4,5,6} n(B-A4)=2 Math@MUT
T areal = {1, 14,17} i ]
area2 = {15} n(intersect(4, B, C)) =0 n(4d-B)=6
area3 = {4} n(union(4, B, C)) =10 n(B-4)=2
ns3=| 1= area4 = {0,2,10} P n(4d N B)=1 n(C N (4 v B))=4
' area5=1{ } . n(B N C)=1 n(Cu (4 nB))=6
areab = {6} n(4 v C)=9 n(intersect(4, B, C)) =18
area7 = {5} n(B v C)=7 Math@MUT
L Larea8 = {3,7,8,9, 11,12, 13,16 } ] J
4w B=10,2,5,6,8,9,10} .Iz(A': {area3, area4})
AN B=158) 2=(4'~B = {area3})
4 v B={0, 1"2’ 3,4,5,7,8, 11} 3=((A4-B) U (B—A)={areal, area3})
B N A4={6,9,10} 4=(B v C={area2, area3, aread, areal, areab, area7 })
Ans4 = 4-B=1{0,2} , Ans5 = S=(4 n (B v C)={area2, area4, area’ })
B’—A:{1,3, 4,7,11} 06=((4 N B) v (4 n C)={areal, aread, areal })
4 v B)': {1,3,4,7,11} 7=((B—-4) U (B-C)={area2, area3, areab })
A~ B={1,3,4,711} 8=(B n C={areal, area8})
_(A—B)':{1,3,4, 5,6,7,8,9,10,11} ] L 9=(4 N (C—B)':{areal, areal, area$l }) |
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Set0l Answers for No.10639

X [Page =

Ans4 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKKXXXKXXXXXKXKXXX XXX XXX XXX XK XXX XXX XXX KKK XX XXX KKK XK KKK XXX KKK XXX KKK XX KKKKXMAE/1-6800101-00009XX

areal = {22;3{’48; 12} ndnB)=1 n(du B)=8
Ansl =| .1 = arezg’ei{;,le} . 2=| n(4-B)=4 n(U-(4 U B))=3
areat = (5.9, 10) n(B-A)=3 Math@MUT
”re;’;;z{j’{%g} n(d ~ B)=0  n(4 U B)=9
Ans2=| 0= e (5710011, 13,15y 2 =| MA=B)=3 n(U=(4 L B)=5
aread = {9, 12, 14,16, 17} n(B-A4)=6 Math@MUT
I areal = {7} ] i
area? = {1} n(intersect(4, B, C)) =0 n(4-B)=3
area3 =1{0,2,8,10} n(union(4, B, C)) =12 n(B-4)=4
ns3 | 1= aread = {3,4} e n(4d N B)=1 n(C N (4 U B))=2
area5 ={ } ’ n(B N C)=0 n(Cu(4dnB))=7
areab = { } n(4 v C)=8 n(intersect(4, B, C)) =17
area7 = {5,11,13,16} nBu C)=11 Math@MUT
L Larea8 = {6,9, 12,14, 15} ]
4 U B=1{3,4,56,8,10,11,12,13,16} 1 =(A v B={areal, area2, area3})
/ 4~ B={16} 2=(4-B = {area2})
AU B'={2,4,56,7,9,11,12,13, 14,15, 16} 3=((4  B) = {areal, area3, aread )
BN A= 13,8,10} 4=(B v C={areal, area3, area4, areas, area6, area7 })
A-B=1{4,56,11,12,13} . AnsS =

B —A4=1{2,7,9,14,15}
(4 U B)=1{2,7,9,14,15}
4 " B={2709,14,15}

S=(A4 n (B v C)={area2, area, areal })
6=((4 N B) U (4 n C)={area2, area, areal })
7=((A-B) n (A-C)={areal })

(A4-B)=1{2,3,7,8,9, 10, 14, 15, 16}

.8:(A/ N B= {area7, area8 })
9=(Cn (A—B)rz {area5, area6, area?7})

(V010N 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9.9:9.9.9:9.9.0.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:0:0:9.0:9.9.9:9.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.0.0.9.0.9.9.9.9.0.9:0.9.0.:9.0.9:0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.9.9.9:9.0.9.0.9.0¢



QR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0. ¢/ . Y AL I T O NN NI JOh 0D 0:¢
Set0l Answers for No.10671

areal = {4,6,8}

area2 = {1} n(4 N B)=1 n(4 U B)=9

Anst=| 1= area3=10,3,5,7, 12} 2= Eéz:ﬁiiz n(UA_ﬂE;l,@UMZ);:‘l
area4 = {2,9,10, 11} B
arjfe]ai?:(; 91’51}3 } n(d N B)=2 04w B)=7
Ans2=| 1= U ,.2=| n(A-B)=4 n(U-(4 U B))=17

area3 = {4}

aread = {5,6,8, 11,12, 14, 16} n(B-4)=1 Math@MUT
[ [ areal =1{7,8,11,12,13} | ]
area = { } n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {2,10} n(union(4, B, C))=10 n(B-A4)=4
ns3=| 1= aread = { } e n(4d N B)=1 n(C N (4 v B))=3
area5 = {9} i nB nNnC)=3 n(Cu (4 nB))=3
areab = {3,5} n(4d v C)=8 n(intersect( A4, B, C)'): 15
area7 = { } n(Bu C)=5 Math@MUT
L Larea8 = {0, 1,4, 6,14, 15} ] ]
4w B={3,4,56,10,11,15} I .]:(Arz{area3,area4}) 1
, 4 N B={15} 2=(B —A4'={areal })
4w B=145738, ?’ 10, 11,12, 13, 14, 15} 3=((4 n B)': {areal, area3, area4 })
B nAd={306} 4=(A n B={area, areal})
Ans4 = A-B={4,510,11} , Ans5 = S5=(C N (4 v B)={aread, area5, area6})
B —A= {7,8,9,12,13, 14} 6=((A4 N C) v (B n C)={aread, areas, area6 })
(4 v B)'= {7,8,9,12,13, 14} 7=((A-B) U (A-C)={areal, areal, area4})
A N B'={7,8,912,13,14} 8=(C —A'={areal, area2})
L (A—B)':{3,6, 7,8,9,12,13, 14,15} | L 9=(4 N (B—C)':{areal,area4, areal }) |

DG RF-Te (SR BN VI VANV ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.9:0.9:0.9:0.9.0.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9.9.0.9.0.9.0.¢
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Set0l Answers for No.10751

areal ={9,12,16}

area= {10, 11} n(d N B)=2  n(4 U B)=6

Ansl =| .1 = 2= n(4-B)=3 n(U-(4 U B))=7
area3 = {14} B
aread = {4,5,6,7,8,13, 15} n(B-A)=1 Math@MUT
“re“ir:a{;f{’% 16} n(d n B)=1  n(d4du B)=7
Ans2 =| .1 = - ,.2=| n(4-B)=4 n(U-(4 U B))=38

area3 = {11,17}

aread = {4,5,9,10,12,13, 14,15} n(B-4)=2 Math@MUT
[ [ areal={7,13} | i
area2 = { } n(intersect(4, B, C)) =1 n(4d-B)=4
area3 = {5} n(union(4, B, C))=9 n(B-4)=2
Ans3=| 1= aread = {1,6} g n(4d N B)=1 n(C N (4 v B))=4
’ area5= {4} t n(B N C)=2 n(Cu (4 N B))=6
areab = {14} n(4 v C)=8 n(intersect(4, B, C)/) =13
area7 ={11,12} n(Bu C)=7 Math@MUT
L Larea8=1{2,3,8,9,10}] ]
AU B={4,6,7,8,9,10,11,12} i .1:(B':{area],area4}) ]
AN B=16.7.8} 2=(A-B={areal})
4 v B={5 6? 7,8,10,12, 13, 14} 3=0((4 n B)': {areal, area3, area4 })
B nA4={40911} 4=(4 v C={areal, area2, area4, areas, area6, area7 })
Ans4 = 4-B=1{10,12} , Ans5 = S=(B N (4 v C)={area2, areal, areab})
B-A= {5,13, 14} 6=((4 N B) U (B N C)={area2, area’, areatb })
(4 v B)': {5,13,14} 7=((B—-4) v (B-C)={area2, area3, areab })
A~ B={513 14} 8=(4 u C= {areal, area2, area3, areab, area7, area8})
_(A—B)':{4, 5,6,7,8,9,11,13, 14} ] L 9=(Cn (B—A)rz{area4,area5, area?7}) |

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXXXXKXKXKXKXKXKXKXKKXKKXKKXKKXKKX KK KKXKX KKK KX KXKKKKX KKK KK KK KKK KK KK KKK KKK KKK KK KK KK KK KK KK KKK KK KK KK KK KK KKK
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Set0l Answers for No.10772

aferzj]:{igs}} n(4d N B)=2  n(4 U B)=6
Ansl =| .1 = area3:{4,9’,13} ,.2=| n(4-B)=1 n(U-(4 U B))=6
aread = {2,6,7,10, 11,12} n(B-4)=3 Math@MUT
areal = {3,6, 11, 12} n(d N B)=2  n(4uU B)=8
Ans2 =| .1 = Z:Z?;izgi ,.2=| n(4-B)=4 n(U-(4 U B))=3
aread = {2, 5,10} n(B-A4)=2 Math@MUT
[ Tareal ={7,10,11,12}] i
area? = {8,14} n(intersect(4, B, C))=0 n(4d-B)=35
area3 = {1} n(union(4, B, C)) =13 n(B-4)=3
nsi=| 12 aread = {5} . n(4d N B)=2 n(C N (4 v B))=3
area5 ={ } ’ n(B N C)=2 n(Cu (4 nB))=8
area6={2,13} n(4 v C)=12 n(intersect(A4, B, C)/) =16
area7 = {3,4,15} n(Bu C)=9 Math@MUT
L area8=1{0,6,9} | i
4w B={0,2,3,4,5,6,9,11} 1 [ d=(4 v B={areal, area2, area3})
A nB={5} 2=(A-B = {area2})
A v B={1,2,5717,8,9,10,11,12} 3=((4 U B) ={aread})
BN A={0,3,46} 4=(A N B={area2, area5})
Ans4 = A4-B=1{2,9,11} , Ans5 = S=(B U (4 n C)={area2, area3, area4, areal, areal } )
B’—A:{l, 7,8,10,12} 6=((4 v B) n (B v C)={area2, area3, area4, areal, area6 })
(4 U B)=1{1,7,8,10,12} 7=((B—-4) n (B-C)={area3})
A~ B'=1{1,7,8,10,12} .8=(A'— B = {area3, area6})
_(A—B)':{0,1,3,4, 5,6,7,8,10,12} ] L .9=((C—B)'—A={area3,area6,area8}) |

DG RF-Te (SR BN VI VN RZN ID'9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9.0.9.0.9.9.9.9.0:9.9.9.0.9.0.9:0.9.0:9:0.9:0.9:0:9:0:9:0:9:0.9:0.9.0.9:0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.10777
[ areal=1{7,9,11,14} | - -]
2{ (6,16} ; n(4d N B)=2 n(4d v B)=8
areas =
Ansl =| .1= ’ ,2=| n(4-B)=4 n(U-(4 U B))=5

area3 = {4,15} B
Laread = {5.8,10,12,133] ~ -PNB-A)=2 Math@MUT |

ar‘::;i_{éll}i} n(4 A B)=2  n(4 U B)=5
Ans2=| .1= area3:{4;,5} ,.2=| n(d-B)=1 n(U-(4 v B))=6
| lareas=12.3.7.8,9.101] FrB-A=2 Math@MUT |
[ Tareal = {9, 11,12, 14} i
area2 = {10} n(intersect(4, B, C))=0 n(4-B)=4
area3=1{1,2,13} n(union(4, B, C)) =14 n(B-4)=6
nsi=| 12 aread = { } . n(4 N B)=1 n(C N (4 v B))=3
area5 ={ } ’ n(B N C)=3 n(Cu (4nB))=7
area6=1{5,7,8} n(4 v C)=11 n(intersect(A4, B, C)/) =15
area7 = {0,3,6} n(B v C)=10 Math@MUT
L L area8 = {4} ] i
4w B={0,2,3,4,5,6,8,13} i .]=(A'= {area3, area4}) 1
’ 4 n B={2} 2=(B-A={area3})
AU B-= {1,%, 7,8,9,10,11,12,13} 3=(4 U B ={areal, area3, aread})
B n4={0,3,4,5,6} .4:(B’: {areal, area4, area7, area8 })
Ansd = A-B={8,13} , Ans5 = 5=(C n (A v B)={aread4, area5, area6})
B —A= {1,7,9,10, 11,12} 6=((A4 N C) v (B n C)={aread, areas, area6 })
(4 U B)=1{1,7,9,10,11, 12} 7=((C-4) n (C-B)={area7})
A~ B= {1,7,9,10, 11,12} .8:(8/ U C= {areal, area2, area3, area4, area7, area8 })
_(A—B)':{O,I,Z, 3,4,5,6,7,9,10, 11, 12} L 9=(B N (C—A)':{areaZ,area3,area5}) |

DG RF-Te (SR BN VI VN RCH IID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9:9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9.0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0:9.0:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.10816

areal = {9}

aread= {1, 10} n(4d n B)=2  n(4 U B)=7

Ansl =| .1 = ,.2={ n(A-B)=1 n(U-(4 v B))=4
aarreeaaj _ {{23,’7At’85,’161}} n(B-4)=4 Math@MUT
“re;’jezz{f’{% 1121 }13} 04 A B)=2  n(4U B)=7
Ans2=|.1= area3:{’9} ,.2=| n(4-B)=4 n(U-(4 v B))=8
area4 = {17,8, 10, 14, 15, 16, 17, 18 } n(B-4)=1 Math@MUT
[ [ areal={7,11} | i
area? = {5} n(intersect(4, B, C)) =0 n(4-B)=2
area3 = {2,6,14} n(union(4, B, C)) =10 n(B-4)=5
nsi=| 12 aread = { } e n(4d N B)=1 n(C n(4vB))=2
area5 ={ } ’ n(B N C)=2 n(Cu (4 nB))=5
area6={9,13} n(4d v C)=17 n(intersect(4, B, C)/) =15
area7 = {1,12} n(Bu C)=38 Math@MUT
L Larea8 = {0,3,4,8,10}] ]
4w B={0,1,4,5,6,8,9,13} i .]:(Arz{area3,area4}) 1
/ A N B={0,4,59,13} 2=(A ~B={aread})
A U B={0,1,2,3,4, 5', 6,7,9,10, 11,12, 13} 3=((4 U B) = {aread})
B nA4={8} 4=(B n C={areal, areab})
Ansd = A-B={1,6} , Ans5 = S5=(4 n (B v C)={area2, aread, area5})
B—A= {2,3,7,10, 11,12} 6=((A4 N B) U (4 n C)={area2, aread, area5})
(4 v B)'= {2,3,7,10,11,12} 7=((A-B) U (A-C)={areal, areal, area4 })
A N B'={2,3,7,10,11,12} 8=(A N C={area3, area8})
_(A—B)':{O,Z, 3,4,5,7,8,9,10,11, 12, 13} | L 9=(4 N (C—B)':{areal,areaZ,area5}) |

DG RF-Te (SR NI VAR Y ID'9:9:0:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9.9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0:9:0.:9:0.9.0.9:0.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9:9.0.0.0.9.0:¢
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Set0l Answers for No.10818

area]zz{il,65, 1101, 12} _n(A A B)=2 n(A U B)=S8
Ansl =| .1 = ”;fe"a3‘:{{3”8}} . 2=| n(4-B)=4 n(U—(4 U B))=3
I | aread= (7,913} | L n(B-4)=2 Math@MUT ]
”;fe"ag:{{i; 67’ 193}} n(d ~ B)=3  n(d4duU B)=8
Ans2=| .1 = area3:{8’,1’1} ,.2=| n(4-B)=3 n(U-(4 v B))=4
| laread=1{2.5.10,12y] “nB-A)=2 Math@MUT 1|
T areal = {8,9} i ]
area2 =1{ } n(intersect(4, B, C)) =1 n(4d-B)=2
area3=1{1,3,4,17} n(union(4, B, C)) =11 n(B-4)=5
P aread = { } g n(4d N B)=1 n(C N (4uvB))=2
' area5 = {14} . n(B N C)=2 n(Cu (4 nB))=5
areab = {16} n4 v C)=7 n(intersect( A4, B, C)’): 17
area7 = {2,6,15} nBu C)=9 Math@MUT
L Larea8 = {0,5,7,10, 11,12, 13 }] J
A v B={0,1,2,3,4,5,6,7,10,12, 14} i 1 =(A'= {area3, aread}) )
- AN B={0.7} 2=(B-A'={area2})
4 v B= {0’§= 4,6,7,8,9,11,13, 14} 3=((A-B) U (B-—A)={areal,area3})
B nA4={1,2,510,12} 4=(B v C={area2, area3, area4, area’, areab, area?7})
Ans4 = A-B={3,4,6,14} , Ans5 = S=(A4 n (B v C)={area2, area4, area’ })
B-A= {8,9,11,13} 6=((4 N B) v (4 n C)={areal, area4, areal })
(4 U B)=1{8,9,11,13} 7=((B-4) n (B-C)={area3})
A~ B=1{8911,13} 8=(A' - C = {areab, area7})
_(A—B)':{O,1,2,5,7, 8,9,10,11,12,13} ] L 9=(4 N (C—B)': {areal, area2, areal }) |

DG RF-Te (SHE SN VJVNRCY ID:9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0.9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.9:0.9:0.9.0.9.9.9.9.9.0.0.0.9.9.0.9.0.9:0.9.0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9:0:¢
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Set0l Answers for No.10827

areal = {4,8,10}

X n(d N B)=1 n(d U B)=6
Ansl=| .1 = ar‘;:;“f‘{;slé} L 2=| n(4-B)=3 n(U-(4 U B))=5
aread = {6,7,9, 11,12} n(B-4)=2 Math@MUT
”:;Z;j{llf ?’26}} n(4 N B)=2  n(4 U B)=8
Ans2=|.1= maj__{s’g} ,.2=| n(4-B)=4 n(U-(4 U B))=4
aread = (4,7,9. 10} n(B-A4)=2 Math@MUT
[ areal = {7,14} | ]
area2 = { } n(intersect(4, B, C)) =1 n(4d-B)=4
area3 = {4,6} n(union(4, B, C))=10 n(B-4)=2
nsio| go| areat=1{9.10} 5 n(d N B)=1 n(C N (4 U B))=3
S R area5={13} [~ n(B N C)=1 n(C U (4 N B))=6
areab = { } n(4 u C)=8 n(intersect(4, B, C)) = 14
area7 = {3,12,15} n(B U C)=8 Math@MUT
L Larea8 = {1,2,5,8,11}] ]

4V B={2,4,6,9,10,12} .]:(Brz{area],area4})
, A4 B={12} 2=(A~B={aread})
A U B={3,57, 8,’9, 10,11, 12,13, 14,15} 3=((4 N B) = {areal, area3, aread})
B nA4={2,406} 4=(4 N B={area2, areal})
Ans4 = 4-B=1{9,10} , Ans5 = S=(A4 n (B v C)={area2, area4, area’ })
B —A4=1{3,5,7,8,11,13, 14, 15} 6=((4 N B) U (4 n C)={area2, aread, area5})

(4 v B)'= {3,5,7,8, 11,13, 14,15} 7=((C—-4) v (C-B)={aread, areab, area? })
A4~ B'=1{3,571728,11,13, 14,15} .8=(A' - B = {area3, area6})
L[(4-B)=1{2,3,4,5,6,7,8,11,12,13, 14,15} ] L 9=(4 n (B-C) = {areat, area7, area8}) |

DG RF-Te (SRE N V[ VAN ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0:9:0.9:0.9:0.9.0.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9.0.9.0.9.9.9.9.0.9.0.:9.0.¢
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Set0l Answers for No.11443

areal = {3,5,7,10,13}

~ n(4 N B)=1 n(4 U B)=8
Ansl =| .1 = ar‘;:;“f‘{jgl}s} . 2=| n(4-B)=5 n(U-(4 U B))=5
aread = {6,9, 11, 12, 14} n(B-4)=2 Math@MUT
areal 2562,23:4%{,97; 8,10} n(d A B)=1 n(4 U B)=9
Ans2 =| .1 = area3—g5 141 ,.2=| n(A-B)=6 n(U-(4 U B))=6
aread=1{2,6, 11,12, 13, 15} n(B-4)=2 Math@MUT
[ [ areal=1{2,3,57} | ]
area? = {8} n(intersect(4, B, C))=0 n(4A-B)=6
area3 = {9} n(union(4, B, C))=12 n(B-A4)=2
sz po| areat=10.14} 5 n(d N B)=1 n(C N (40U B))=3
S R area5=1{ } s = n(B N C)=1 n(C U (4 N B))=7
area6 = {10} n(4 v C)=11 n(intersect(4, B, C) ) = 16
area7 = {6,13, 15} nBuC)=8 Math@MUT
L Larea8={1,4,11,12}] J
[ AU B=1{1,2,4,7,81011,12} | I 1=(4 N B={areal}) ]
A0 B={7,11} 2=(B —A={aread})
AU B={0,2,3,567911}

! .3=(A' N B= {area4})
B nA4=1{1,428,10,12} 4=(A v B={areal, areal, area3, area4, areas, area6 })
A-B={2} , Ans5 = S=(B N (4 v C)={area2, area’, areab})
B-A= {0,3,5,6,9} 6=((4 N B) U (B n C)={area2, area’, areatb })
(4 U B)=1{0,3,5,6,9} 7=((A-B) N (4-C)={areal })
A N B= {0,3,5,6,9} .8:(A’ N B'= {area7, area8 })
L(4-B)=1{0,1,3,4,5,6,7,8,9,10, 11, 12}

Ans4 =

X [Page =

9=((C-4) - B ={area2, area3, area’ })
AINNARIDS0010:0: 060000000100 0:0.00:0.0:0:0.010:0:0:0:010:0.0:0:000::0:6:00:0.0:0:0.00:.0:0.00 0 0:0:0.010:0::6.010:0.0:0:0.0 0000000 0:0:000:0:0:0:000.0:0:000 000000 0:0:0.010:0 00000 0:0:0.0.0:0:0:0:0'0:0:0:6:0.0:0:0:6:0.0'0:0:0:6:4
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Set0l Answers for No.11795
areal = {6,7,9,13}

area2 ={ } n(4 N B)=0 n(4d U B)=9

Ansl =| .1 = area3:{3,8,10,11,12}"2: n(d-B)=4 n(U-(4 v B))=4
aread = (2,4, 5,14} n(B-4)=5 Math@MUT
area;rea{24;7{’lllo}’~ 12} nd N B)=1 n(4du B)=11
Ans2=| .1 = area3:{5,6,8,9,13,14}"2: n(d-B)=4 n(U-(4 v B))=0
aread = { } n(B-A4)=6 Math@MUT
i areal = {3,5,6,7} | ]
area = { } n(intersect(4, B, C)) =2 n(4d-B)=4
area3 = {4,10} n(union(4, B, C))=10 n(B-4)=3
ns3—| 1 aread = { } P n(4d N B)=2 n(C N (4 v B))=3
' area5=1{14,16} . n(B N C)=3 n(Cu (4 nB))=4
areab = {8} n(4 v C)=8 n(intersect(4, B, C)'): 14
area7 = {1} n(Bu C)=6 Math@MUT
L Larea8 = {2,9, 11, 12, 13, 15} | J
[ A U B=1{509,10,11,13,14,15} ] r d=(4 A B={area2}) ]
AN B={51314} 2=(4'-B={areas})
AU B=1{4,56,7,8,9,11,12,13,14,15,16} 3=(4 N B'={aread})
Bnd= 110} 4=(4 v C={areal, area2, area4, areas, area6, area7 })
Ans4 = A4-B={9,11,15} , Ans5 = S=(C U (4 n B)={area2, area4, area5, areab, area?7 } )
B-A= {4,6,7,8,12,16} 6=((4 v C) n (B vy C)={area2, aread, areas, areab, area7 })
(4 U B)=1{4,6,7,8,12,16} 7=((B-A4) v (B-C)={area2, area3, area6})
A4~ B=1{4,6,78,12 16} 8=(B U C={areal, area, area3, aread, area’, area8)
L (A—B)':{4, 5,6,7,8,10,12,13, 14,16} | L .9:((C—A)'—B'= {areal, area3, areal }) i
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Set0l Answers for No.11874

areal = {2,4,5,6}
area? = { }
area3={3,9,11}
area4 =1{0,1,7,8,10}
areal = {3,4,5,7, 11, 14}
area = {9}

n(4d n B)=0  n(4 U B)=7
,.2=| n(4-B)=4 n(U-(4 U B))=5
n(B-A)=3 Math@MUT

Ansl =| .1 =

n(4 N B)=1 n(4 U B)=9

Ans2=| 1= area3— {8, 15) ,.2=| n(4-B)=6 n(U-(4 U B))=5
aread = {2, 6, 10, 12,13} n(B-A)=2 Math@MUT
[ [ areal = {3} ] i
area2 = {0} n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {15} n(union(4, B, C))=9 n(B-A4)=2
dns3 =| 12 aread4 ={9,10} . n(4 N B)=1 n(C N (4 U B))=3
' area5=1{ } t nBnNC)=1 n(Cu (4 nB))=17
areab = {5} n(4 v C)=8 n(intersect(A4, B, C)/): 17
area7 = {4, 14,16} n(B U C)=8 Math@MUT
L Larea8 ={1,2,6,7,8, 11, 12,13} ]
AU B=1{4,6,7,10,11,13,14,15} | i d=(4 N B={area2}) 1
- AN B={710,11} 2=(A-B={area2})
A v B={4,56,7,8,9,10,11,12, 14,15} 3=((A-B) U (B-A)={areal, area3})
B A={13} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ansd = A-B=1{4,6,14,15} , AnsS = S=(B N (4 v C)={area2, areal, areab })
B’—A:{S, 8,9,12} 6=((4 N B) U (B n C)={area2, area’, areab })
(4 U B)': {5,8,9,12} 7=((A-B) U (A-C)={areal, areal, aread })
A~ B={538,912} 8=(B n C'={areal,area8})
L (A—B)': {5,7,8,9,10, 11, 12, 13} ] L 9=(4 N (B—C)': {areal, aread, areal }) i

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXXXXKXKXKXKXKXKXKXKXKX KX KX KK KK XKXKXKXKXKX KX KKX KKK KK KK KKK KK KK KKK KKK KKK KK KK KK KK KKK KKK KK KK KK KK KK KKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXKXKXXXXKXKKX XX KKK XXX XXX KX XXX XK XXX KKK XX XK KKK XXX KKK KKK KKK XXX KKK XX KXKKKXME/1-6800101-00020XX

Set0l Answers for No.11877

X [Page

Ans4 =

areal = {3,5,7}

area2—{ } n(4d N B)=0  n(4 U B)=8
Ansl =| .1 = area3 = {9, 10, 11,12, 13} ,.2=| n(4-B)=3 n(U-(4 U B))=5
aread = {1,2,4,6,8) n(B-4)=3 Math@MUT
a:zerZz:{?f’zS}g}} n(d n B)=3 n(d U B)=10
Ans2=| 1= area3:{4”8”10} 2= n(4-B)=4 n(U-(4 U B))=1
aread = {6} n(B-4)=3 Math@MUT
[ areal = { } i ]
area2 = {16} n(intersect(4, B, C))=0 n(4d-B)=2
area3 = {11, 15} n(union(4, B, C)) =10 n(B-4)=5
Ans3 | 1= aread = {4,10} . n(4d N B)=1 n(C N (4 v B))=5
' area5=1{ } . n(B N C)=3 n(Cu (4 nB))=38
area6 = {9,13,14} n4 v C)=8 n(intersect(4, B, C)) = 15
area7 = {3,12} n(B v C)=10 Math@MUT
L Larea8 ={2,5,6,7,8}] J

A U B=1{4,506,10,11,13,15}
AN B={15}

AU B'=1{2,3,4,578,912,14,15}
B N A={610,11,13}
A-B={45}

B -A4=1{2,3,7,8,9,12, 14}

(4 U B)=1{2,3,7,8,9, 12,14}
A4~ B'=1{2,3,7,8,9,12 14}

, Ans5 =

[(4-B)=1{2,3,6,7,8,9,10, 11, 12, 13, 14,15} ]

A=(4 N B={areal})
2=(A' - B'={areal3})
3=((4 n B)': {areal, area3, area4})
4=(A N B={area2,areal})

S=(A4 n (B v C)={area2, aread, area’ })
06=((A4 N B) v (4 n C)={areal, aread, areal })
7=((C-4) n (C-B)={area7})
.8:(8’— C= {aread, area7})
9=((B- C)'—A = {areab, area7, area8})
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R RUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢\ . YARI I T O NN N [ o N B 0:¢
Set0l Answers for No.11945

areal = {4,6}

area2= (12, 13) n(d N B)=2  n(4d U B)=7

Ansl=| 1= 258 ,.2=| n(4-B)=2 n(U-(4 U B))=5
aread = {3, g 9, 10,}11} n(B-4)=3 Math@MUT
Ans2=| 1= area3:{5,,9,,11} ,.2=| n(4-B)=4 n(U-(4 U B))=4
aread = {4,8,16,17} n(B-4)=3 Math@MUT
[ areal = {15} i ]
area2 =1{ } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {3,12,13} n(union(4, B, C)) =10 n(B-A)=4
3| 12 aread = {14} S n(4d N B)=1 n(C N (4 U B))=3
area5 = {8} i nBnNnC)=2 n(CuU (4 nB))=6
areab = {4} nd v C)=7 n(intersect(4, B, C)) = 14
area7 = {2,5,9} nBu C)=9 Math@MUT
L Larea8 = {1,6,7,10,11}] J
(4 U B=1{4,5,7,8,9,10,13,14,15} | [ 1 =(B = {areal, aread}) ]
o4~ B=110} 2=(4' - B={aread})
4 U B'={4,6,10,11,12,14,15} 3=(4 N B'={aread})
BN A=15780913; 4= (B/: {areal, area4, area7, area8 })
Ansd = A’_B: 4,14, 15} , Ans5 = S=(A4 n (B v C)={area2, area4, area’ })
B -4={6,11,12} 6=((4 N B) U (4 n C)={area2, aread, area5 })
(4 v B)': {6,11,12} 7=((A-B) U (A-C)={areal, area2, aread })
A~ B={611,12} 8=(B —A = {areal, aread})
L(4-B) ={5,6,7,8,9,10,11,12, 13} L .9=(C ~ (4-B) = {area2, area3, area8}) |

DG R=F-Te (SHE NIV N N HD:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9.9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9:0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9.0.:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9.9.9:0.9.9.9.9.0.9.0.:9.0.¢



R RUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.0:0.:0:0:0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0:0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢\ . Y AL I T O NN N1 [0 232 0:¢
Set0l Answers for No.12216
areal ={4,7,8}

area2 = {10} n(4d N B)=1 n(4uUB)=6

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=6
area3 = {12, 14
aread = {3,5,6,9, 11}, 13} n(B-4)=2 Math@MUT
”r:f:azig{’;}z} n(4 nB)=1  n(4 U B)=8
Ans2=| .1= ,.2=| n(4d-B)=2 n(U-(4 v B))=5
area3 ={3,4,10,11, 14}
aread = {5,6,7,9, 13} n(B-4)=3 Math@MUT
[ [ areal=1{6,8,13} | i
area? = {15} n(intersect(4, B, C)) =1 n(4-B)=3
area3 =1{3,9,12} n(union(4, B, C))=13 n(B-4)=5
nsi=| 12 aread = { } P n(4d N B)=2 n(C N (4uvB))=3
' area5 = {14} T n(B N C)=3 n(Cu (4 nB))=7
area6 = {5,16} n(4 v C)=10 n(intersect(A4, B, C)/) =16
area7 = {7,10,11} n(B v C)=10 Math@MUT
L Larea8 = {1,2,4,17} ]
A v B={4,5,6,7,13,14,15,16} [ 1=(B = {areal, aread}) )
o AN B={4.6] 2=(B-A'={area2})
4V B= {4’ 6,7,8,9,10, 11,12, 17} 3=((A4-B) U (B-A)={areal,area3})
B nA4={513,14,15,16} 4=(4A v B={areal, areal, area3, area4, areal, area6 })
Ans4 = A-B={7} , Ans5 = S5=(C U (4 n B)={area2, area4, areal, area6, area7 } )
B-A= {8,9,10,11,12,17} 6=((4 v C) n (B v C)={area2, aread, area’, areab, area? })
(4 U B)={8,9,10,11, 12,17} 7=((C—-4) n (C-B)={area7})
A~ B=1{891011,12,17} .8=(C' - B'= {area2, area3})
L(A—B) ={4,5,6,8,9,10,11, 12,13, 14, 15,16, 17} L 9=(4 n (C-B) = {areal, area2, area5}) ]

DG RF=Te (SRE N2 N ID'0:9:0:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.0.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9:9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0:9:0.:9:0.9.0.9.9.9.9.9.0.0:9.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9.9.0.9.0.9.0.¢
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Set0l Answers for No.13077

”76”2:6225’_6’{;2’ 14} nd nB)=1 n(4duU B)=10
Ansl =| .1 = area3:{7,11,12,13,16}"2: n(4d-B)=4 n(U-(4 v B))=3
aread = {4,815} n(B-4)=5 Math@MUT ]
aferzgi{g“é} n(d ~ B)=2  n(4d U B)=8
Ans2=| .1 = ; ,.2=| n(4d-B)=1 n(U-(4 v B))=6
area3=1{7,9,12,13, 14}
aread = {3,6,10, 11,15, 16} n(B-4)=>5 Math@MUT
T areal = {1, 13} i ]
area? = {5,11} n(intersect(A4, B, C)) =1 n(4d-B)=3
area3 = {16} n(union(4, B, C))=10 n(B-A4)=1
ns3 =| 1= aread = {6} P n(4d N B)=3 n(C N (4uvB))=2
' area5= {4} . n(B N C)=1 n(Cu (4 nB))=7
areab = { } n(4 v C)=9 n(intersect(4, B, C)) =16
area7 = {10,12, 15} nBu C)=8 Math@MUT
L Larea8 ={2,3,7,8,9,14, 17} ] J
4w B={3,4,57"7,8,12,14,15,16,17} i A =(4 v B={areal, area2, area3})
AN B={7,814} 2=(B -4 ={areal’})
A v B={3,56,7280910,11,13, 14,16} 3=((4-B) U (B-A)={areal, area3})
B A=1{412,1517} 4=(B n C= {area$, areat})
Ans4 = A-B=1{3,5,16} , AnsS = 3=(C v (A4 N B)={area2, area4, areas, areab, area7 })
B A= {6,9,10,11, 13} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })
(4 U B)=1{6,9,10,11, 13} 7=((4-B) U/ (4- ,C): {areal, area2, area4 })
A n B'={6,91011,13} -8=(B N C={areal, area8 })
L(A—-B) =1{4,6,7,8,9,10,11,12, 13,14, 15,17} L 9=((4-C) - B={area4, area’, area8 }) _

DG RF-Te (SRE N VICH IID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.:9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.:9:0.9.0.9.0.9.9.9.0.0:0.0.9.0.9.0.:9:0.9.0:9:0.9:0.:9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.0.9.0.9:0.¢



DR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0.¢ | . YARI I T O NN N [0 XD 0:¢
Set0l Answers for No.13084

”reala:reg’f’{9l’;;’ 12} n(4 A B)=1  n(4 U B)=9
Ansl =| .1 = area3:{_6,10,14} ,.2=| n(4-B)=5 n(U-(4 v B))=2
I ] aread = {7, 8} | Ln(B-4)=3 Math@MUT 4]
”rjf;a;i’gl}z} N4~ B)=1  n(4 L B)=17
Ans2=|.1= area3 = {4.5,6,91 ,.2=| n(4-B)=2 n(U-(4 U B))=5
| lareat=(1,2,7,10,11}]  LnB-A)=4 Math@MUT ] |
I areal = {9} ] i
area? = {4} n(intersect(4, B, C)) =1 n(4-B)=2
area3=1{1,5,6,15} n(union(4, B, C)) =11 n(B-A4)=4
nsi=| 12 area4 = {10} I n(4d N B)=2 n(C N (4 v B))=2
' areas= {12} e nBnNC)=1 n(Cu (4N B))=6
areab = { } n(4 v C)=17 n(intersect(4, B, C)) =15
area7 = {2,3,13} nBu C)=10 Math@MUT
L Larea8 = {7,8,11, 14,16} ]
(4 U B=1{4,5,6,7,8,10,11,12, 13,14, 15, 16} | [ 1 =(A4'={area3, aread}) 1
/ AN B={} .2:(BV—A:{area4})
A UB,:{3’5’6’9’ 13,14, 16} 3=(4 N B'={aread})
B nA4=1{472810,11,12,15; .4:(C/: {areal, area2, area3, area8 })
Ansd = 4 _B:/ 15,6, 13, 14,16} , Ans5 = S=(4 v (B n C)={areal, areal, area4, areal, area6 } )
B -A4={3,9} 6=((4 v B) n (4 v C)={areal, area2, area4, areal, area6 })
(4 U B)={3,9} 7=((B-4) n (B-C)={area3})
A~ B={309} 8=(A4' - C = {area6, area7})
L (A—B)':{3,4, 7,8,9,10,11,12,15} | L 9=(4 N (C—B)':{areal,areaZ,area5}) |

DG RF=Te (SHE NI V2X Y ID'0:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0.:9:0.9:0.9:9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9.0.9.9.9.9.0.9.0.9:0:¢
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Set0l Answers for No.13098

areal = {4,6,10, 11, 14}

area2 = {15} n(d nB)=1  n(4 v B)=10

Ansl =| .1 = ,.2=| n(4-B)=5 n(U-(4 U B))=3
area3 ={9,12,13,16} B
aread = {5,7,8} n(B-4)=4 Math@MUT
Z:ZZ;? i?’j’ m n(4 A B)=3 n(4 U B)=10
Ans2 =| .1 = I ,.2=| n(A-B)=3 n(U-(4 U B))=5

area3=1{2,7,9,10}

aread = {3,5,8, 12, 14} n(B-4)=4 Math@MUT
[ Tareal ={7,10,11,15}] i
area? = {5} n(intersect(4, B, C))=0 n(4-B)=5
areal3 =1{1,2,4,13} n(union(4, B, C)) =13 n(B-A4)=4
Ans3=| 1= aread = {12} P n(4d N B)=1 n(C N (4vB))=1
’ area5=1{ } e n(B N C)=0 n(Cu (4N B)=5
areab = { } n(4 v C)=9 n(intersect(A4, B, C)/): 15
area7 ={8,9, 14} n(Bu C)=9 Math@MUT
L L area8={3,6} ] ]
(4 U B=1{3,4,5,8,9,10,11,13,14,15} | I 1= (A = {area3, areat}) |
o AN B=13.8,9} 2=(B —A={aread})
4V B=1{34 §, 7,8,9,10,11, 12, 14} 3=((A-B) U (B—A)={areal,area3})
B nA4={51315} 4=(B v C={area2, area3, aread, area’, areab, area7 })
Ans4 = A-B=1{4,10,11, 14} , Ans5 = S5=(C U (4 n B)={area2, area4, areal, area6, area7 } )
B-A= {6,7,12} 6=((4 v C) n (B v C)={area2, aread, area’, areab, area7 })
(4 U B)=1{6,7,12} 7=((C-4) N (C—B)={area7})
A4 N B= {6,7,12} .8:(A’ U B = {areal, area3, area4, area6, area?7, areaS})
L (A—B)':{3,5,6,7, 8,9,12,13,15} | L .9=((B—A)'—C={area],areaZ,areaS}) i

DG BF=Te (SHE NI ) HD:0:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.9.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.9:0.9.0.9.9.9.9.9.9.0.0.9.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9:0.9.9.9.9.0.9.0.9.0:¢



R QRUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0.:0:0:0:0.:0.0:0:0.:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:9.6:0.0:0.¢ | . YA RI I T O NN NV [0 XY 0:¢
Set0l Answers for No.13790

areal = {2,8, 11}
area? = {3,4,9}
area3 ={10,12} |~
aread = {5,6,7}

n(4d n B)=3  n(4 U B)=38
2=| n(4-B)=3 n(U-(4 U B))=3
n(B-A)=2 Math@MUT

Ansl =| .1 =

arjfe]a2:{5{’68’9121’11}4} 4 N By=3 n(d v B)=9
Ans2=| .1 = area3:{;1,,13} ,.2=| n(4-B)=4 n(U-(4 U B))=3
aread = {7,10,15} | n(B-A4)=2 Math@MUT
[ areal = { } ] i

area2 = {10} [n(intersect(4, B, C)) =1 n(d-B)=1
area3 =1{0,2,4,5} n(union(4, B, C)) =12 n(B-A4)=4

nsi=| 12 aread = {7} I n(4d N B)=2 n(C N (4uv B))=2

' area5= {8} e nBnNC)=1 n(Cu (4N B))=8

areab = { } n(4 v C)=8 n(intersect(4, B, C)) = 16
area7=1{1,6,13,15,16} L n(Bu (C)=12 Math@MUT
L Larea8 = {3,9, 11, 12, 14} ]
A v B={4,57,8,11,13,14,15,16} 1 =(B={areal, aread?})
o4 N B={13} 2=(A4 -~ B'={area3})
AUB:'{6,8,9,10,11,12,13} 3=((A-B)n (B-4)={1})
B nA4={45714,1516} 4= (A/: {area3, areab, area?7, area8 })
Ans4 = A-B={8,11} , Ans5 = S=(4 v (B n C)={areal, area2, aread, area$, area6 } )
B —4={6,9,10,12} 6=((4A U B) n (A U C)={areal, area2, aread, area5, area6})
(4 U B)=1{6,9,10, 12} 7=((C-4) u (C-B)={area4, areab, area?7 })
A~ B= {6,9,10,12} .8:(A’ U B'= {areal, area3, area4, area6, area?7, area8})
L(4-B)=1{4,5,6,7,9,10,12, 13, 14,15, 16 } | L 9=(C N (B-A4) = {areal, area2, area8}) ]

DG BF-Te (SRE N2 HD:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9:9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0.9:0.9:0.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9:0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.13792

”Zer”e:;_{?’li(;} (4 A B)=1  n(4 U B)=8
Ansl = 'Izarea3*{4;12 13 14},.2: n(4-B)=2 n(U-(4 v B))=3
] aread— (6.7.9) L n(B-A4)=5 Math@MUT 1|
“re“i;ei;f;;(;’ 1} (4 A B)=1  n(4 U B)=10
Ans2=|.1= area3 = (3 4_12 13, 14) ,.2=| n(4-B)=4 n(U-(4 U B))=2
I aread— 16,8} L n(B—A4)=5 Math@MUT |
[ [ areal = {2} i B i
area2 = {10} n(intersect(4, B, C)) =0 n(4d-B)=4
area3={1,4} n(union(4, B, C))=28 n(B-A4)=2
ns3 =| 1= aread = {6,8,11} P n(4 N B)=1 n(C N (4 v B))=3
i R area5={ } Sk n(B N C)=0 n(C U (4N B)=5
areab = { } n(4 v C)=6 n(intersect(4, B, C)'): 18
area7 = {12} L n(B v C)=7 Math@MUT
L Larea8 = {3,5,7,9,13, 14, 15,16, 17, 18 } | ]
4V B={1,2,3,45,6,7,8,9,11} I .I=(B':{area1,area4}) 1

AN B={1438)}
AU B={1,2,46,8,910,11}
B A={351}

2=(B' —A'={areal })
3= (A' U B'= {areal, area3, aread })
4=(A4 v B={areal, areal, area3, area4, areal, area6 })

Ansd = A4-B={2,69,11} , Ans5 = S=(4 v (B n C)={areal, area2, aread, areal, area6 } )
B’—A:{IO} 6=((4 v B) n (4 v C)={areal, area2, area4, area$, area6 })
(4 U B)=1{10} 7=((C-4) n (C—B)={area7})
A4~ B'={10} 8=(B n C={areal, area8})
L (4-B)=1{1,3,4,5,7,8,10} | L 9=(4 N (C—-B) = {areal, area2, area5}) ]

DG RF-Te (SRE NIV N ID'0:9:0:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9.9:0.9:9.9:0.9.9.9.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.0:0.9:0.9:0.9.9.9.9.9.0.0:0.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0:9:0:0:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.:9:0:¢



Ans4 =

X [Page

B'—A=1{4,7,9,10,12,13, 14, 16,17}
(4 U B)=1{4,7,9,10,12, 13,14, 16,17}
A~ B'={47,9,10, 12,13, 14,16,17}

(A-B)=1{4,5,6,7,8,9,10, 12,13, 14, 16,17}

R ERUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.0.0:0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0. ¢\ . Y AL I T O NN NI [0 X D 0:¢
Set0l Answers for No.13794

WZZ”_I;{Z’?” n(4 N B)=4  n(4 U B)=7
Ansl =| .1 = are_a3:{’5}’ ,.2=| n(4-B)=2 n(U-(4 U B))=5
aread = {8,10, 11, 12, 13 } n(B-4)=1 Math@MUT
“reazr:eizz’fﬁbi’ 13} 04~ B)=1  n(4uU B)=8
Ans2=| 1= maj__w 121 ,.2=| n(A-B)=5 n(U-(4 v B))=17
aread = {4,6,7,11, 14, 15, 16} n(B-4)=2 Math@MUT
[ areal = { } ] i
area? = {3,16,17} n(intersect(4, B, C)) =1 n(4d-B)=2
area3={ } n(union(4, B, C)) =10 n(B-4)=1
s3] 12 aread = {10, 14} 5 n(d N B)=4 n(C N (4 U B))=4
Sl R area5 = {13} s = n(B N C)=2 n(C U (4 N B))=10
areab = {7} n4 v C)=10 n(intersect(4, B, C)) =15
area7 = {11,12,15} nBu C)=10 Math@MUT
L Larea8 = {4,5,6,8,9, 18} ]
4V B={5,63811,15} I 1 =(B = {areal, aread})
, AN B=158] 2=(4'- B={areat})
A U B'=1{4,57,8,9,10,11,12,13,14,15,16,17} 3=((A=B) A (B—A)=1{ 1)
B N A={6} 4=(A n C={aread, area’5})
A-B={11,15} | Ans5 =

J5=(C v (4 n B)={area2, area4, area5, areab, area7 } )
6=((4 v C) n (B C)={area2, aread, area’, areab, area7 })
7=((C-4) u (C-B)={area4, areab, area? })
.8:(A’—B’: {area3, area6})
9=(Cn (A—B)': {area5, area6, area7 })

(V012333 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0:9.9.9:9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0.9:0.9.9.9:9.9.9.9.0.9.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.9:0:9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.9.9.9.9.9.9.9.0.9.0.9:0.9:0.:9:0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.0.9.9:9.0:9.0.9.0¢



R ERUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.0:0.6:0.0:0.¢ | . Y AL I T O NN NI Jo 23D 0:¢
Set0l Answers for No.13795

areal = {8
amzz{i 5}} n(4d N B)=2  n(4 U B)=6
Ansl =| .1 = area3*{37’ 1y ,.2=| n(Ad-B)=1 n(U-(4 U B))=6
aread = {6,9, 10, 12, 13, 14} n(B-4)=3 Math@MUT
areal = {0, 1
areaZ:{{4}} n(4d N B)=1 n(4d v B)=17
Ans2=| 1= L 2=| n(4-B)=2 n(U-(4 U B))=6
area3 =1{2,5,8,9} n(B-A)=4 Math@MUT
aread = {3,6,7,10,11, 12} - “

[ [ areal={8,10} | i
area? = {15,17} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {12,13} n(union(4, B, C)) =10 n(B-4)=4

ns3 | 1= aread = {6} . n(4 N B)=3 n(C N (4 U B))=4
’ area5= {11} . n(B N C)=3 n(Cu (4 N B))=6
area6 = {9, 14} n(4 u C)=8 n(intersect(4, B, C)) = 14
area7 = { } n(B U C)=8 Math@MUT
Larea8 = {3,4,5,7,16}] ]

AU B=1{4,56,7,8,9,11,14,17}
AN B={11}
AU B=1{3,4,6,7,8,9,10,11,12,13, 15, 16}
BN A={514,17}

i =(A'= {area3, aread})
2=(A-B={areal})
3=0(4 n B)': {areal, area3, area4})

4= (A’ = {area3, areab, area7, area8 })

Ans4 = A-B=1{4,6,7,8,9} , Ans5 = S=(4 n (B v C)={area, aread, area5 })
B—A= {3,10,12,13,15,16} 6=((A4 N B) U (4 n C)={area2, aread, area5})
(4 U B)={3,10,12,13,15,16} 7=((C-4) n (C-B)={area7})
A4~ B'={3,10,12,13,15,16} 8=(A4' - C = {area6, area7})
L (A-B)=1{3,5,10,11,12,13,14,15,16,17} | L .9=((C-4)-B = {area2, area3, area5}) |

DG RF=Te (SRE N2 HD:0:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0.9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.9:0.9.0.9.9.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.:9:0:9:0:0:0:0:0.9:0.9.0.9:0.9.9.9.9.0.9.0.9:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKXKXXXXKKKXXX KK KX XX KK KK XX KK KK XXX KKK XX XK KKK KKK KKK XXX KKK XXX KKK XXKXKKKXMAE/1-6800101-00030XX

Set0l Answers for No.13831
gz | s wioser
Ansl =| .1 = area3:{5,’8,9} ,.2=| n(4d-B)=2 n(U-(4 U B))=6
aread = {3, 4,6, 13, 14, 15} n(B-4)=3 Math@MUT |
] pames oy
Ans2 =| .1= area3;{’5}’» ,.2=| n(4-B)=3 n(U-(4 v B))=7
aread ={1,2,6,9, 10, 11,12} n(B-A4)=1 Math@MUT
[ [ areal ={6,10} | ]
area? = {13} n(intersect(4, B, C)) =1 n(4A-B)=3
area3 = {2,12} n(union(4, B, C)) =12 n(B-A4)=4
P aread = {8} e n(4 N B)=2 n(C N (4uv B))=4
area5= {14} | nB n C)=3 n(Cu (4 nB))=8
area6 = {9,11} n(4 v C)=10 n(intersect(4, B, C)) = 14
area7 = {3,5,7} n(B v C)=10 Math@MUT
L Larea8 = {0, 1,4} ]
[4 U B=1{3,4,6,8,9,10,11,12,13, 14} ] i 1=(4 N B={area2}) ]
A B=1{612} 2=(4-B'={area2})
4 v B={35, 6? 7,10,11,12,13, 14} .3=(A' U B= {areal, area3, area4})
B nA4={4289} 4= (A/: {area3, areab, area7, area8 })
Ans4 = 4-B={3,10,11, 13, 14} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area$, areat } )
B-A= {5,7} 6=((4 v B) n (A v C)={areal, area2, area4, areal, area6 })
(4 v B)': {5,7} 7=((A-B) U (A-C)={areal, area2, aread })
.8:(A’ U B = {areal, area3, area4, area6, area?7, area8})

A~ B={517}

9=(B N (4- C)': {area3, areal, areab })

(4-B)'=1{4,5,6,7,8,9,12}
VORI 0:9:9:9:0:0:0:0.0.:0:0:0:0.0.0.0.0.0:0:0:0.0.0.0.0.0:0:0:0.0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0:0.0.0.0.0.0:0:0:0.0.0.0.0:0:0.0:0.0.0.0.0.0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0:0:0:0.0.0.0.0:0:0:0.0.0.0.0.0:0:0:0.0.0.0.0.0:0:0:0.0.0.0.0.0.0:0:0:0.0.0.0.0:0:0.0.0.0.0.0.0.0:0:0¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKXXXXXKXKKXX XXX KX XX KX KK XX KKK XXX XXX KKK XK KKK XXX KKK XXX KKK XXX KKK XX KXKKKXME/1-6800101-00031XX

Set0l Answers for No.13891

areal = {11}
area? = {3,9
Ansl=) 1= a3 =1 1,{4, 6,}12}
area4 ={0,2,5,7,8,10}
areal = {4,10}
areal = {7
Ans2=| 1= area3:{2,3,{6,}9,11}’
area4={1,5,8}
I areal = {8} ]
area? = { }
area3={3,12}
aread4 = {4,9
Ans3 =| .1 = area5={{0}} ,.2=
areab = { }
area7 = {2,5,10}
L Larea8={1,6,7,11,13, 14}
i AU B=1{2,4,506,11,13} i
AN B={5}
A4 U B={3,56,7,80910,11,12, 14}
B A=1{2413}
Ans4 = A-B=1{6,11} , Ans5 =

B'—A=1{3,7,8,9,10,12, 14}
(4 U B)=1{3,7,8,9, 10, 12, 14}

A nB={3,7,8,910 12,14}
[(A—B) =1{2,3,4,5,7,8,9,10, 12,13, 14} |

X [Page

n(4d N B)=2 n(4d v B)=7
,.2=| n(4d-B)=1 n(U-(4 U B))=6
nB-A4)=4 Math@MUT |
n(4 N B)=1 n(4 v B)=38
2= n(Ad-B)=2 n(U-(4 v B))=3
n(B-4)=5 Math@MUT
[n(intersect(4, B, C)) =1 n(4-B)=3
n(union(4, B, C))=9 n(B-4)=2

n(4d N B)=1 n(C N (4 v B))=3

n(B N C)=1 n(Cu (4 nB))=6

n(4 v C)=7 n(intersect(4, B, C)) = 14
L nBuUC)=8 Math@MUT

i =(B': {areal, area4})
2=(B-A={area3})
3=((A4-B) U (B-A)={areal,area3})
4= (C/: {areal, areal, area3, area8})

S5=(C U (4 n B)={area2, area4, areal, area6, area7 } )
6=((4 v C) n (B v C)={area2, aread, area’, areab, area7 })
7=((B-4) v (B-C)={area2, area3, areab })
8= (B/— C= {aread, area?7 })

9=((B- C)'—A = {areab, area’7, area8})

[VJOICH N ID:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0:9.9.9:9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:0:0:9:0.9:9.9:0.9.9.9.9.9.9.0.9.0.9.0:9.0.9:0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.9:9.9:0.9.9.9.0.9.9.9.9.9.9.0.9.0.9:0.9.0.:9.0.9:0:9:0:9:0.9:0:9:0:9:0:9:0.9:0.9:9.9.0.0.9.9:9.0:9.0.9.0¢



R ERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0. ¢ . JARI I T O NN NI J0Ic 12 0:¢
Set0l Answers for No.13915

areaZir?Cii) 1{161}2 13} nd N By=4 nduvB)=7
Ansl =| .1 = area3za{5:9}, ,.2=| n(d-B)=1 n(U-(4 v B))=4
aread— (3.4.7,8) n(B-A)=2 Math@MUT
“:;ZZ:{?ES}} ndnB)=1 14U B)=6
Ans2=|.1= ,.2=| n(4-B)=2 n(U-(4 U B))=7
area3 ={9,13,14}
aread = {4,7,8,10,11, 12, 15} n(B-4)=3 Math@MUT
I areal = {1,2,11} | i
areal = {14} n(intersect(4, B, C)) =1 n(4-B)=4
area3 = {7} n(union(4, B, C))=10 n(B-4)=1
nsi=| 12 aread = {3} . n(4d N B)=2 n(C N (4 U B))=2
’ areas = {10} . n(BnNC)=1 n(Cu (4 N B))=6
areab = { } n(4 v C)=9 n(intersect(4, B, C)) = 14
area7 = {6, 8,13} n(Bu C)=7 Math@MUT
L Larea8 ={0,4,5,9,12}] ]
4V B={1,2,3,56,7,8,10} [ 1 =(A'= {area3, aread}) ]
, 40 B={T7} 2=(A-B={areal })
A v B={0,1,3,4,5,7,8,9,10,11,12,13} 3=(A-B) " (B-A)=1{})
BN A= {2,6} 4=(B n C={areal, areab})
Ansd = A-B=1{1,3,538,10} , AnsS = S=(B v (4 n C)={area2, area3, aread, areal, areat6 })
B A= {0,4,9,11,12,13} 6=((4 U B) n (B v C)={area2, area3, aread, area’, area6 })
(4 v B)': {0,4,9,11,12,13} 7=((C-4) v ’(C—/B): {aread, areab6, area7})
A N B={0,4911,12,13} -8=(4 - B = {area3, area6} )
L (4-B)=1{0,2,4,6,7,9,11,12,13} | L 9=(B N (C-4) ={area2, area3, area5 }) ]

DG R=F-Te (SR N VIC KN ND'9:9:9:9:0:9:0.9:0:9:0:9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0:9:0.9.0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9.0.:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0.:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.0:0.6:0.0:0.¢ | . JARI I T O N NI J0Ic 1) 0:¢
Set0l Answers for No.14004

ar:;;‘:{l{121}3} n(d N B)=2 n(duU B)=7
Ansl =| 1= maj,:{l&’g’ 10} ,2=| n(4-B)=1 n(U-(4 U B))=5
aread = {4,5,6,7, 12} n(B-4)=4 Math@MUT
a”:e 2”21: {{186 1112}'} n(d ~ B)=2  n(4duU B)=8
Ans2=| 1= ’ ,.2=| n(4-B)=2 n(U-(4 U B))=17
area3 ={3,4,6,16}
aread={5,7,9, 13, 14,15, 17} n(B-4)=4 Math@MUT
i areal = {4,8,15% | i
area? = {12} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {10} n(union(4, B, C)) =11 n(B-4)=1
s3] 12 aread = {5,13} 5 n(d N B)=2 n(C N (4 U B))=3
' area5= {1} e n(B N C)=1 n(C U (4 nB))=17
areab = { } n4 v C)=10 n(intersect(4, B, C)) =16
area7 = {6,7,16} n(B U C)=8 Math@MUT
L larea8=1{2,3,9,11,14,17}] ]
[ 4 U B={3,4,509,10,11,13,14,15} ] I 1=(4 N B={area2}) ]
AN B={5} 2=(4-B = {area2})
AU B={2356,7781213} 3=(4 n B'={aread})
B N A'=1{4,9,10,11,14,15} 4=(4 ~ C={aread, area5})
Ans4 = A-B=1{3,13} , AnsS =

S=(B N (4 v C)={area2, area’, areab})
6=((4 N B) U (B n C)={area2, area’, areat6 })
7=((A4-B) U (A-C)={areal, areal, aread })
A~ B= {2,6,7,8,12} 8= (A/ U C= {areal, area2, area3, area6, area?7, area8 })
L(4-B) =1{2,4,5,6,7,8,9,10, 11,12, 14,15} ] L 9=(B N (C-A4) = {areal, aread, area8}) |
(JUCKIID'0:0:0:0:0'0:0:0:0/0'0:0:0:0:0:0.0:0:0/0'0:0.0:0:0.0:0:0.0.0.0:0.0:0:0.0:0:0:0.0.0:0.0:0:0.0.0:0.0.00:0.0:0.0.0.:0:0.0.0.0:0.0:0.0.0.0:0.0.0.0:0.00:0.0.0.0.0.0.0:0.0:0.0.0:0:0.0.0.0:0.0'0.0.0.0:0.0.0.0:0.0'0.0.0:0:0.0.0:0.0'0'0.0.0:0:0.0'0:0:0'0'0:0.0:0.0.0:0:0:0'0'¢

B —-A4=1{2,6,7,812}
(4 U B)=1{2,6,7,8,12}
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Set0l Answers for No.14013

area”;i”{lz ; i 6 n(d N B)=4  n(4duU B)=6
Ansl =| .1 = area3:j{829’} ,.2=| n(4-B)=0 n(U-(4 v B))=5
aread = {0,1,5,7, 10} n(B-4)=2 Math@MUT
ariziia}{:j{ g,}9} n(4d N B)=1 n(4d U B)=9
Ans2=| 1=\ s ro.18 10,11y b2 NA=B)=3 n(U=(4 L B))=3
areat— (2. 3.7) nB-A4)=5 Math@MUT
[ [areal=1{2,6,7,10, 14} ] ]
area2 = {11} n(intersect(4, B, C))=0 n(4A-B)=6
area3 = {17} n(union(4, B, C))=13 n(B-4)=4
Ans3 | 1= aread = {13} P n(4 N B)=1 n(C N (4 v B))=4
' area5=1{ } . n(B N C)=3 n(Cu (4 nB))=7
areab = {3,5,16} n(4 v C)=12 n(intersect(4, B, C)) =17
area7 = {1,4} nBuC)=8 Math@MUT
L L area8=1{8,9,12,15} | ]
AU B={4,59,10,12,13,14,16,17} | i 1=(A4'={area3, aread}) ]
, 4 n B={13} 2=(B-A'={area2})
4 U B={4,67.809,11,12,13,14,15,16} 324 A B = tareat})
BN A4={510,17}

4=(4 v B={areal, areal, area3, area4, area5, area6 })
S5=(C U (4 n B)={area2, area4, area’, area6, area7 } )
6=((4 v C) n (B C)={area2, aread, area’, areab, area? })
7=((A4-B) U (A-C)={areal, area2, aread})
A N B={67281115} .8=(B'—C = {aread, area7})

L (4-B)=1{5,6,7,8,10,11,13,15,17} L 9=(C N (A-B) ={area’, areab, area? }) |
VKT RIID'0:010:0:0:0:0:0:0:010 0:0:00:0:0:0.0:0:0.0:0:0:0.0:0:00:0:0:0.0:0:00:0:0:0.0.:0:0:0:0.0:0.0.0:0:0.0:0:0.0:0.0:0.0:0:0.0:0:0:0:0:0:0.0:0:0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0.0:0:0.0:0.0.0.0:0:0.0.0.0.0.0:0:0.0.0.0:0:0:0:0.0:0.0:0:0.0:0:0:0.0:0.0'0:0:0:0.0:¢

Ansd = A—-B=1{4,9,12,14,16}
B -A4=1{6,7,8,11,15}
(4 U B)=1{6,7,8,11,15}

, Ans5 =
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Set0l Answers for No.14037

areal = {3,7,10,11}

areaz = (5) n(d N B)=1 n(d4 U B)=7

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 v B))=5
arez};(eij{ 1,{2‘?61,283 9} n(B-4)=2 Math@MUT
”re;’:eaz{j’{sz’ }14} (4 B)=1  n(d4duU B)=9
Ans2=| .1 = ,.2=| n(4d-B)=3 n(U-(4 v B))=6
area3 =1{0,3,6,11,12}
aread={1,7,8,9, 10, 13} n(B-4)=3 Math@MUT
[ areal = {15} ] i
area = { } n(intersect(4, B, C)) =1 n(4-B)=2
area3 = {10, 11,12} n(union(4, B, C))=9 n(B-4)=6
nsi=| 1= aread = {16} P n(4d N B)=1 n(C N (4vB))=5
' areas = {13} T n(B N C)=4 n(Cu (4N B)=5
area6 = {8§,9, 14} n(4 v C)=6 n(intersect(A4, B, C)/): 12
area7 = { } n(Bu C)=8 Math@MUT
L Larea8=1{4,5,6,7} | |
A v B={56,7,8,9,11,14,15} 1 =(B = {areal, aread})
. AN B={6711} 2=(4'~B={areas})
A v B=1{4,56,7,8,10,11,12,13,14,16} 3=((A-B)n (B-A)={})
B nA4={915} .4:(A’: {area3, areab6, area7, area8})
Ans4 = A-B={5,8,14} , Ans5 = S =(C v (4 N B)={area2, aread, area5, area6, area7 } )
B —A4=1{4,10,12,13,16} 6=((4 v C) n (B v C)={area2, aread, area’, area6, area7 })
(4 U B)=1{4,10,12,13,16} 7=((B—-4) n (B-C)={area3})
A~ B= {4,10,12, 13,16} 8= (B’ uC= {areal, area2, area3, area4, area7, area8 })
L (A—B)':{4, 6,7,9,10,11,12,13,15,16} | L 9=(C N (B—A)':{area4,area5, area7}) |

DG R=F-Te (SR N VICIS N ID:9:9:9:9:9:9:0.9:0:9:0:9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0.:9:0.9:0.9.9.9.9.9.9.0.0.0.9.0.9.0.9:0.9.0.:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9:0.9:0.9.9.9:9.0.9.0.9:0:¢
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Set01 Answers for No.14452
areal = {3_’ 10,13} (4 A B)=1  n(4 U B)=9
Ansl =| .1 = areal ={2} . 2=| n(4-B)=3 n(U-(4 U B))=4
area3 ={4,5,7,9, 11}
[ areas={1,6,8,12y | LAB=A=5 Math@MUT |
ar‘;:le;i{églé} n(d N B)=2  n(du B)=8
Ans2=|.1= area3:{2,3”5,7,11} ,.2=| n(4-B)=1 n(U-(4 U B))=4
|| areat=t1.4,9,10y | FnB-A=3 Math@MUT 1 |
[ Tareal ={6,11,13,14,15,17}] i
area = { } n(intersect(4, B, C)) =0 n(4d-B)=7
area3 = {3} n(union(4, B, C)) =11 n(B-4)=3
s3] 12 aread = {16} 5 n(d N B)=0 n(C N (4 U B))=3
' area5 ={ } . n(B N C)=2 n(Cu (4nB))=4
area6 = {9,12} n4 v C)=10 n(intersect(4, B, C)) =17
area7 = {4} n(Bu C)=5 Math@MUT
L area8=1{1,2,5,7,8,10} | ]

AU B={1,2,3,6,8,9,10,11} 1= (B = {areal, aread})

4N B=1{3,8} 2=(A-B={areal})

A4V B= {'3’ 4,5,7,8,9, 11} 3=0(4 n B)': {areal, area3, area4})
BnA={1,2610} 4=(4 v C={areal, area2, area4, areas, area6, area7 })
Ans4 = A4-B={9,11} , Ans5 = S5=(C U (4 n B)={area2, area4, area5, area6, area7 } )

6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })
7=((C—-4) v (C—-B)={aread, areab, area? })
A N B=1{45,7} 8=(4 N C={area3, area8})
_(A—B)':{l,2,3,4, 5,6,7,8,10} L .9=(A' N (B—-C) = {areab, area?7, area8 }) ]
VETRID'0:0:0:0:0:0:010:0:010 0:0:00:0:0:0.0:0:0.0:0:0:0.0:0:00:0:0:0.0:0:0.0:0:0:0.0.:0:0:0:0.0:0.0.0:0.0.0:0:0.0:0:0:0.0:0:0.0:0:0:0:0:0:0.0.0:0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0.0.0:0:0:0.0.0.0:0:0.00.0.0.0:0.:0.0.0.0:0:0:0:0.0:0.0:0:0.0:0:0:0.0:0.0'0:0:0:0.0:¢

B -A=1{4,57}
(4 U B)=1{4,5,7}
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Set0l Answers for No.14823

areal = {13, 14}

area2=1{4,7,10,11} n(d N B)=4 n(4 U B)=7

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=4
area‘;’iaj s 6{’98}; ) n(B-A4)=1 Math@MUT
arenzzlreaéi,{lg,}m n(4 nB)=1  n(4 U B)=8
Ans2=| d=| s g 13y b2 A-B)=3 n(U=(4 U B))=4
aread = {4.6.9. 11} n(B-A4)=4 Math@MUT
o areal = {11} i ]
area2 = {5,8,18} n(intersect(A4, B, C)) =1 n(4d-B)=1
area3 = {4,14} n(union(4, B, C))=9 n(B-4)=3
P aread = { } P n(4d N B)=4 n(C N (4 U B))=2
' areas = {10} . n(B N C)=2 n(Cu (4 nB))=6
areab = {7} n(d v C)=7 n(intersect( A4, B, C)'): 16
area7 = {15} n(Bu C)=8 Math@MUT
L Larea8 = {2,3,6,9,12,13,16, 17} J
A U B=1{4,8,9,10,12,13,15,16,17} | [ 1 =(B = {areal, aread}) 1
A B={8} 2=(A-B={areal})
4V B={567281011 14,15} 3=((A4-B) U (B-A)={areal, area3})
B A={409121316,17} 4=(A n B={area2, area5})
Ansd = 4-B={10,15} , Ans5 = S5=(C n (4 v B)={aread, area’, areab })
B’—A:{5,6, 7,11,14} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 U B)'= {5,6,7,11, 14} 7=((B—-4) U (B-C)={area2, area3, areab })
A A B= {(5,6,7,11, 14} .8:(3’ U C= {areal, area2, area3, area4, area7, area8 })
L(4—B) ={4,5,6,7,8,9,11,12,13, 14, 16, 17} L 9=((4-C) - B={aread, area7, area8 }) ]

DG R=F-Te (SR N JVICH A ID'0:9:0:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.9.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.0:0:9:0.9.0.9.9.9.9.9.9.0:0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9:0.9:0.9.9.9:9.0:9.0.9.0:¢
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Set0l Answers for No.14824

areal = {5,6}

area (1.9, 11} n(4d n B)=3  n(4 U B)=38

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=4
a”rre ea”j: {{;,31’08,’1123}} n(B-A)=3 Math@MUT
“re“ilreij’:‘:f;} 16} n(dn B)=1  n(d4duU B)=9
Ans2=| 0= gty 2| MA-B)=5 n(U-(d v B)=5
aread = {6,10, 11, 13, 14} n(B-4)=3 Math@MUT
I areal = { } ] i
area? = {5,9} n(intersect(4, B, C)) =2 n(4d-B)=1
area3 ={1,2} n(union(4, B, C)) =10 n(B-4)=3
ns3 | 1= aread = {11} ’e n(4 N B)=4 n(C N (4 v B))=4
' area5={0,12} [~ n(B N C)=3 n(C v (4N B))=8
areab = {4} n(4 v C)=8 n(intersect(4, B, C)) =11
area7 = {6,7} n(B u C)=10 Math@MUT
Larea8 = {3, 8,10} ] |

AU B={1,2,57,8,910,11}
A4 N B=1{9,10}
4 U B=1{0,2,3,4,5,6,9,10}
BN A={1,7,811}

i :(B': {areal, area4})
2=(A4'-B={aread})
3= (A' U B'= {areal, area3, aread })
4=(B n C={areal, areab})

Ans4 = 4-B={2,5} , Ans5 = S=(B N (4 v C)={area2, areal, areab })
B’—A:{O,?a, 4,6} 6=((4 N B) U (B n C)={areal, areas, areab })
(4 U B)=1{0,3,4,6} 7=((A-B) U (A-C)={areal, area2, aread })
A~ B={0,3,46)} 8=(C—A4'={areal, area2 })
_(A—B)': {0,1,3,4,6,7,8,9,10, 11} | L 9=((4- C)'—B: {area4, area7, areal }) |

X [Page = 0038] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXXXXKXKXKXKXKXKXKXKXKX KX KX KK KKKKXKXXKXKX KX KX KX KKK KK KK KKK KK KK KK XK KK KKK KK KK KK KK KKK KKK KK KK KK KK KK KKK



QR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0.¢ | . Y AL I T O NN NI J0Ic 1D 0:¢
Set0l Answers for No.14847

”76”12:_{?’89}} nd nB)y=1 n(4du B)=8
Ansl =| .1 = areajir?‘;,;’sylo’n} L 2=| n(4-B)=2 n(U-(4 U B))=3
areat = (6,7.12) n(B-A)=5 Math@MUT
“re“];{{l’;’l;(;} n(d n B)=2  n(duU B)=9
Ans2 =| .1 = are”;;”: {‘2’4:5,11} 2= n(4-B)=3 n(U-(4 U B))=3
aread = 16,8,9} n(B-4)=4 Math@MUT
[ areal = {15} i B ]
area2 = {9} n(intersect(4, B, C))=0 n(d-B)=2
area3 = {2,7,10, 14} n(union(4, B, C)) =10 n(B-4)=6
P aread = {12} e n(4d N B)=1 n(C N (4 v B))=3
area5 ={ } i nBnNnC)=2 n(Cu (4 nB))=5
areab = {3,4} n4d v C)=6 n(intersect(4, B, C)) = 15
area7 = {1} L n(B v C)=9 Math@MUT
L Larea8 = {5,6,8,11,13 }] J
(4 U B={1,3,4,5,6,7,9,10, 11} | I 1=(4 A B={area2}) ]
AnB=1{} 2=(B' -4 ={areal })
40U B={1,2,3,68910} 3=((A=B) A (B-A)=1{1)
BnAd= 14,57, 11} .4:(C’: {areal, area2, area3, area8 })
Ans4 = 4-B={1,3,6,9,10} , Ans5 = S5=(C n (4 v B)={area4, areal, areab })
B -A= {2,8} 6=((4 N C) U (B n C)={aread, areal, areab })
(4 U B)=1{2,8} 7=((C—-A4) U (C-B)={area4, area6, area7})
A4~ B'={2,8} 8=(B U C={areal, area, area3, aread, area’, area8)
L (A—B)': {2,4,5,7,8,11} | L .9=(B' N (4- C)'= {aread, area7, area8 }) |

DG BF-Te (SR N IVICIS) HD:9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9.9.9.9.9.9.9.9.9.9.0.9.0.9:0.9:0.9:0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.9:0:9:0.9:0.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.14881

areal = {2,4,6,7,8}

i n(4d n B)=1 n(4 U B)=8
Ansl=| .1 = ar‘;:;“f‘{g{sl}b} L 2=| n(4-B)=5 n(U-(4 U B))=3
aread = {1,311} n(B-A)=2 Math@MUT
areal :a{ri;ﬁ,f,;,}lo, 12} 24 A B)=0 n(A U B)=11
Ans2 =| .1 = areas = {3 6_9 1113} ,.2=| n(4-B)=6 n(U-(4 U B))=3
aread = 10.4,8) n(B-A)=>5 Math@MUT
i areal = {7} i i
area2={1,5,13} n(intersect(A4, B, C))=0 n(4d-B)=2
area3 ={3,8,11,16} n(union(4, B, C)) =12 n(B-A)=4
szl 12 aread = {15} 5 n(4d N B)=3 n(C N (40U B)=1
S R area5={ } s = n(B N C)=0 n(C U (4 N B))=7
areab = { } n4 v C)=8

n(intersect(4, B, C)') =16
area7 = {10, 12, 14}

n(Bu C)=11 Math@MUT
L L area8=1{2,4,6,9} | J
4V B={2,3,6,7,8,9,10,12} I .]:(Brz{area],area4}) 1
A/ﬂ B={2,7,8,9,10} .2:(B—A’:{area2})
A v B:{2,4,'5,6,7,8,9, 10,11} 3=(4 N B'={aread})
B nA={312} 4=(4 v C={areal, area2, area4, areas, area6, area7 })
Ans4 = A-B={6} , Ans5 = S=(A4 n (B v C)={area2, area, area5 })
B’—A:{4, 5,11} 6=((4 N B) U (4 n C)={area2, area4, areal })
(4 U B)=1{4,511} 7=((A-B) U (A-C)={areal, area2, aread })
A N B={4511} .8=(A4' - B = {area3, area6})
L(A-B) =1{2,3,4,5,7,8,9,10, 11, 12} | L
X [Page =

9=((C—-A4) —B={areal, area4, area8 }) |
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Set0l Answers for No.14911
areal = {5,10}

areal = {4,9} n(4 N B)=2 n(4 U B)=7

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=4
”;::cfz:{fs’ 61’48}} n(d N B)=2 n(duU B)=10
Ans2=| .1 = area3 = {9, 10, 1’1, 12,13} ,.2=| n(4-B)=3 n(U-(4 U B))=2
aread = (4,7} n(B-4)=5 Math@MUT
i areal = {9, 13,17, 18} i ]
area = { } n(intersect(4, B, C))=0 n(4A-B)=6
area3 =140,7,10} n(union(4, B, C))=11 n(B-A4)=3
ns3 =| 1= aread = {6, 8} P n(4d N B)=0 n(C N (4vB))=2
' area5 ={ } . nB N C)=0 n(CuU (4 nB))=4
areab = { } n(4 v C)=8 n(intersect(4, B, C)'):ZO
area7 ={2,3} n(B v C)=7 Math@MUT
L Larea8 = {1,4,5,11,12,14, 15,16, 19} ] J
4w B={13,4,5728,10,11} i 1 =(A v B={areal, area2, area3})
/AﬁB={7,10} 2=(A-B={areal })
4 v B={0,26709101112} 3=((4 n B)': {areal, area3, area4})
BmA':{1,3,4,5,8} 4=(4 n C={aread, area’})
Ansd = A-B={11} , AnsS5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B A= {0,2,6,9,12} 6=((4 v B) n (B v C)={area2, area3, area4, areal, area6 })
(4 U B)=1{0,2,6,9,12} 7=((B-4) n (B-C)={area3})
A~ B= {0,2,6,9,12} 8= (B’ U C= {areal, areal, area3, area4, area7, area8 })
[(4-B)=1{0,1,2,3,4,5,6,7,8,9, 10, 12} L 9=((C—-4) - B ={area2, area3, area5 } ) ]
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Set0l Answers for No.15009

areal ={1,3,7,9}

- n(4 N B)=2 n(4 U B)=9
Ansl =| 1= ari;zai_{z{oésl}o} ,.2=| n(4-B)=4 n(U-(4 U B))=2
aread = {4, 8} n(B-4)=3 Math@MUT
areczlr;éi,?%3az,}12} n(4 N B)=2  n(4uv B)=8
Ans2=) 1= area3_—{’13} ,.2=| n(A-B)=5 n(U-(4 U B))=6
5 n(B-A)=1 Math@MUT

area4 = {4,5,6,9,10,11}

[ areal ={2,10,12,16} |
areal = {4,13}

area3 = {14,15,17}

n(intersect(4, B, C)) =0
n(union(4, B, C)) =12

n(4-B)=4
n(B-A4)=3

ns3=| 1= aread = { } P n(4d N B)=2 n(C N (4vB)=0
' area5=1{ } . n(B N C)=0 n(Cu (4 nB))=5
areab = { } n(4 v C)=9 n(intersect( A4, B, C)'): 18
area7 = {3, 8,18} nBu C)=8 Math@MUT

L Larea8 = {5,6,7,9, 11,19} ]
AU B={2,3,4,6,7,9,11,13,15} ] i A=(4 N B={area2}) ]
/ AN B={} 2=(B-A'={area2})
AV B={2,51, 8? 10, 11, 12, 13, 14, 15,16 } 3=(4 U B'={areal, area3, aread})
B nA={3,4609} 4=(4 n C={area4, area5})

Ans4 = A-B=1{2,7,11,13,15} S5=(C U (4 n B)={area2, area4, areal, area6, area7 } )

, Ans5 =

(A-B)=1{3,4,5,6,8,9,10, 12, 14, 16}
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B —A=1{5,8,10,12, 14,16}
(4 U B)=1{5,8,10,12, 14, 16}
A4~ B'=1{58,10, 12, 14,16}

6=((4 v C) n (B vy C)={area2, area4, areas, areab, area7 })
7=((C—-4) v (C-B)={aread, areab, area?7})
.8:(8/—A/: {areal, aread})
L .9:(A' N (B- C)'= {areab, area7, area8 })




DR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.0:0:0:0:0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0.¢ | . Y AL I T O NN NV JoR 3c 0:¢
Set0l Answers for No.15014

CZ:;I;_{SI’;}} n(4 A B)=1  n(4 U B)=6
Ansl =| .1 = area3:{_8,9,14} ,.2=| n(4-B)=2 n(U-(4 v B))=7
Laread = {4, 5,6,10,11,12, 13} n(B-4)=3 Math@MUT
;::;21:{{53’161}} n(4 A B)=2  n(4 U B)=7
Ans2=|.1= area3:{1,’2,4} ,.2=| n(4-B)=2 n(U-(4 v B))=4
aread = {7,8,9,10} n(B-4)=3 Math@MUT
[ areal = {9} i B ]
area = { } n(intersect(4, B, C)) =3 n(4d-B)=1
area3 = {11} n(union(4, B, C))=9 n(B-4)=3
ns3=| 1= aread = { } e n(4d N B)=3 n(C N (4 v B))=5
area5 =1{0,1,2} ’ nBnNnC)=5 n(Cu (4 nB)=7
area6 = {5,10} nd v C)=8 n(intersect(4, B, C)) =11
area7 = {3,4} L nBuC)=8 Math@MUT
L Larea8 = {6,7,8,12,13 }] i
(4 U B=10,2,3,4,5,6,7,8,9,11}] [ 1 =(A v B={areal, area2, area3}) ]
4~ B=1{0,3,7} 2=(B A= {aread})
4 U B={0,1,23,56,71011} 3=((4-B) U (B-A4)={areal, area3})
Bnd= 14,.8,9} 4= (C/: {areal, areal, area3, area8})
Ans4 = A4-B={2,5611} , Ans5 = S=(4 n (B v C)={area2, area4, area’ })
B-A= {1,10} 6=((4 N B) v (4 n C)={areal, aread, areal })
(4 U B)={1,10} 7=((A4-B) N (A4-C)={areal })
A A B={1,10} 8=(B n C'={areal, area8})
L (A—B)':{O,1,3,4, 7,8,9,10} | L 9=(B N (C—A)':{areaZ, area3, areal }) i
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